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—~HEFK
EAMEME (M) xKkEAKXEF+CODHHE (kg) xCODiL & $18 +SS3HE
#HE (kg) <SS & B8+ B MREE 4B 3Mm -

#LAETREER

s | K& (CMD) BIEFE ik | AKE (CMD) RIEF H

1 Wg=Q 1.00Ugx 4 4Q<Wq=8Q 1.93Ugx

2 Q<Wg=2Q 1.25Ugx 5 8Q<Wq=16Q 2.41Ugx

3 2Q<Wq=4Q 1.55Uqgx 6 16Q < Wq 3.00Ugx
Wi | A E (CMD) A EHRIE FHH 2K

] Wg=0Q, 14 # =QxUqg,
2 | Qi<Wg=Q; | & =0QxUq+( Wq—Q)xUqgz
3 | Q<Wq=Q;s |k & =0QxUq +(Q:— Q)*Uqge +( Wg—Qa)xUqgs

4 | Qs<Wq=Qs | =QxUq+(Q:—Q1)xUqy+(Q3—Q2)>*Ugs+( Wq—Qa4)xUgs

W & = QUgy +(Q2—Q)xUga + (Q3 — Qo)xUqs +(Qs— Qs)xUgas
+( Wq—Qu4)*Ugs

g # = Qi =<Ug; +(Q2— Q1)*xUga +(Qa — Q2)*Uqs +(Qs — Q3)*xUqgas
+(Q5—Qq)xUgs +( Wq—Qs)xUge i

i & =QuxUqi +(Q2—Q1)*Ugqa +(Q: — Q2)xUqgs +(Qs — Q3)xUqgy
+(Qs5—Qq)Uqs +(Qs — Qs5)xUqgs +( Wq—Qs)*Ugg

i F =QixUqgi +(Q2:—Q1)*Uqz +(Qs — Q2)*Uqgs +(Qa — Q3)xUqgy

g8 | Qr<Wq=Qys +(Qs— Qu)*Uqgs +(Qs— Qs)xUqgs + (Q7— Qs)*Ugy
+( Wq—0Q7)=xUqs

i ® =QrUq +(Q:— Qi)*Ugz +(Q; — Qa)xUgs +(Qs— Q1) Ugy

9 | Q<Wg=0Qq +{Q5—Qu)xUqs +(Qe —Qs)*Ugs +(Q7 — Qs)<Ugs
+(Qs—Q7)*Ugs +( Wg—Qg)*Ugg

i =QxUq; +(Q2—Qi)*Uqy +(Q3 —Q2)xUgs + (Qs — Qa)*Uqgy

10 | Q<<Wq=Qu +(Qs — Qa)*Ugs + (Qs—Qs)*Ugg +(Qr—Qe)*Ugqy
+(Qs—Q7)xUqgg+(Qo— Qg)xUge +( Wq—Qg)xUqyo

e F =QixUqy +(Q2—Q1)*Uqz +(Qs— Q) *xUqs +(Qs— Q3)*Uqgy
+(Qs— Qa)Ugs +(Qs— Qs)xUqgs +(Q7— Qe)xUgy
+(Qs — Q7)xUgs +(Qo—Qz)*Ugo+(Qio— Qa)*Uguo
+( Wq—Quo}<Uqu

5 | u<Wg=0Qs

6 | Qs<Wq=0Qs

7 | Qs<Wq=0Qs

11 QIH‘:“’QEQH

1/4
DALCD TWTVEE FoREl R R s e B 2215 ek A R MR et I R = DOC



GRS TRE

[ ey }

#f 5 m] B A% o 55 A B T

12 | Qn<Wq=0Q2

+(Qs—Qu)xUgs +1(Qs

1 # =Q#Uq +(Q2—Q)*xUgz +(Qz: — Q2)xUqga + (Qs — Q3)xUqy
—Qs)xUgs+(Q7—Qs)=xUqgs

+(Qz—Q7)xUqs +(Qo— Qz)<Uge + (Qro — Qo) *xUquo

+(Qn —Quo)*Uqgy +( Wq—Qy)xUqgs2

3 W=l BAHM F(CMD) : Ugx=A & £ 4 B/ (/M)

Q= 4% 7 R 7y 45 H B 4248 A HE AL & (CMD)
Qx=#HFKFMRE  x ' KAFFEARKERIERRE

K2 kB E A (COD-SS)

p# | KE (mgl) |#8RE AE i FitE oK
L Ed=Cp 1.00Up | & =0
2 Cp<Ed=Cs 4.00Up |# ¥ =[ (Ed—Cp)=4.00]xWqxUp/1000
3 Cs <Ed 8.00Up '|iﬁ'=I_(CS—'in)X&I.Dﬂ-i-{Ed—Cs}XB.Dﬂ]
xWq=Up/1000
0 Wq= R Bk # K 8 (CMD) ; Up=3570 35 fedp 2 i # £/8(7u/kg) -

Ed=3135 L4 BB iR 2K T(mgl) : Cp=

Cs= 3% 78 ;5 8 fhy 2 #7 K A% B (mg/L)

3 LM AAE(COD -SSR B BN BHEMERE  RFHE -

IR 5 A 2 3 Bk Ay TR (mg/L)

FIFLRBEER

AFRRA | SRETRAE EAUREMR
HHAEsELAESR (R/BFREE) | (gF5LES) (7t/kg)
= 20 39,500
. 100 7.900
e 500 1,580
e 1,000 it
= 1.000 70
m 790 1,000 s
= 1,000 Ll
= 500 1.580
N 1.000 790
= 500 1580
M; ™ 100 7.900
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G RS ERREE TR TRE

B B @ B AF P 75 K T2

FAKE B EFEELA (F2R)

g | KE (mgl) | 7REF A B FIE A

1 Ed=Cp 1.00Up | &F=0

2 |Cp<Ed=125Cp| 1.32Up |# % =[(Ed—Cp)x1.32]xWqxUp/1000

¥ & =[0.25Cp=1.32+(Ed—1.25Cp)=1.74]
xWqxUp/1000

i # =[0.25Cpx1.32+0.25Cpx1.74
+(Ed—1.5Cp)=2.3]*Wq=Up/1000

i # =[0.25Cp=1.32+0.25Cpx1.74

3 |[125Cp<Ed=15Cp| 1.74Up

4 |[15Cp<Ed=175Cp| 2.30Up

5 | 175Cp<Ed=2Cp | 3.03Up +0.25Cp2.30+(Ed—1.75Cp)x3.03]
«WqxUp/1000
W & =[0.25Cpx1.3240.25Cpx1.74
6 2Cp<Ed 4.00Up +0.25Cp=2.30+0.25Cp*3.03

+(Ed—2Cp)*4]*Wq=Up/1000
3 Wq=R @ EAKHH F(CMD) : Up=33a3 L2k k2B (ke -
Ed= 358 i5 i 4 fic B k2 K § (mg/L) ¢ Cp=3%7875 4 2 i R A A (me/L)

£ ARG ERAAE IR T ER SR TAELTRMBEMHEER

8 B EHRESR
xgam | D Q Q Qs Qs Qs
SR 6,000 8.000 10,000 12,000 14,000 16,000
RATR® 4.02 3.02 241 2.01 1.72 1.51
(Ugx) /M /M M /M M M
K 5E Q; Qs Qy Quo Qi Q2
bk e 18,000 20,000 24,000 28,000 32,000 36,000
RITES 1.34 1.21 1.01 0.86 0.75 0.57
(Ugx) M TIM M M M M
E B EHES
KH L8 E H F(COD) %% E (SS)
47 % %£(Up) 73.04 7t./kg 94.68 7t./kg
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